

County Distribution Detail Report through 06/05/2018

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$39.40	\$-39.40	0.70	\$-27.58
4/2018	1,254	1,826	8	3,088	\$3,860.00	\$75.40	\$3,784.60	0.70	\$2,649.22
							Entity Total: Adjustment: Total Amoun		\$2,621.64 \$0.00 \$2,621.64

Beadle

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$124.00	\$-124.00	0.70	\$-86.80
4/2018	4,503	11,100	85	15,688	\$19,610.00	\$405.93	\$19,204.07	0.70	\$13,442.85
							Entity Total:		\$13,356.05
							Adjustment:		\$0.00
							Total Amour	nt:	\$13,356.05

Bennett

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$6.10	\$-6.10	0.70	\$-4.27
4/2018	951	1,018	4	1,973	\$2,466.25	\$57.03	\$2,409.22	0.70	\$1,686.45
							Entity To Adjustmo		\$1,682.18 \$0.00

Bon Homme

Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
			Lines					Percent	
3/2018	0	0	0	0	\$0.00	\$68.05	\$-68.05	0.70	\$-47.64
4/2018	2,256	3,749	11	6,016	\$7,520.00	\$150.99	\$7,369.01	0.70	\$5,158.31

\$1,682.18

Total Amount:

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$330.10	\$-330.10	0.70	\$-231.07
4/2018	10,964	19,587	225	30,776	\$38,470.00	\$829.23	\$37,640.77	0.70	\$26,348.54
							Entity Tot	al:	\$26,117.47
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$26,117.47

Brown

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$374.15	\$-374.15	0.70	\$-261.91
4/2018	10,861	24,934	178	35,973	\$44,966.25	\$939.01	\$44,027.24	0.70	\$30,819.07
							Entity To	tal:	\$30,557.16
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$30,557.16

Brule

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$71.83	\$-71.83	0.70	\$-50.28
4/2018	2,755	3,538	5	6,298	\$7,872.50	\$101.72	\$7,770.78	0.70	\$5,439.55
							Entity Total	:	\$5,389.27
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,389.27

Buffalo

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$4.58	\$-4.58	0.70	\$-3.21
4/2018	624	405	2	1,031	\$1,288.75	\$10.56	\$1,278.19	0.70	\$894.73

Entity Total: \$891.52 Adjustment:

\$0.00

Total Amount:

\$891.52

Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$103.40	\$-103.40	0.70	\$-72.38
4/2018	2,808	6,089	11	8,908	\$11,135.00	\$238.99	\$10,896.01	0.70	\$7,627.21
							Entity Total: Adjustment:		\$7,554.83 \$0.00
							-		
Campbell							Total Amour	11:	\$7,554.83

Campbell

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$22.30	\$-22.30	0.70	\$-15.61
4/2018	780	1,389	7	2,176	\$2,720.00	\$54.42	\$2,665.58	0.70	\$1,865.91
							Entity Tota	al:	\$1,850.30
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,850.30

Charles Mix

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	1	0	1	\$1.25	\$68.35	\$-67.10	0.70	\$-46.97
4/2018	3,016	5,113	14	8,143	\$10,178.75	\$175.14	\$10,003.61	0.70	\$7,002.53
							Entity Tota	I:	\$6,955.56
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$6,955.56

City of Box Elder, Meade Cc

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	1	0	1	\$1.25	\$38.45	\$-37.20	0.70	\$-26.04
4/2018	36	2,148	0	2,184	\$2,730.00	\$57.40	\$2,672.60	0.70	\$1,870.82
							Entity Total: Adjustment:		\$1,844.78 \$0.00
							Total Amou	nt:	\$1,844.78

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$50.20	\$-50.20	0.70	\$-35.14
4/2018	992	2,445	216	3,653	\$4,566.25	\$107.40	\$4,458.85	0.70	\$3,121.20
							Entity Total:		\$3,086.06
							Adjustment:		\$0.00
							Total Amount	t:	\$3,086.06
City of Sioux Falls,	Lincoln								

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	1	0	1	\$1.25	\$468.68	\$-467.43	0.70	\$-327.20
4/2018	5,208	21,388	1,127	27,723	\$34,653.75	\$766.63	\$33,887.12	0.70	\$23,720.98
							Entity Total: Adjustment:		\$23,393.78 \$0.00
							Total Amour		\$23,393.78

Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$15.73	\$-15.73	0.70	\$-11.01
4/2018	1,506	2,305	10	3,821	\$4,776.25	\$100.58	\$4,675.67	0.70	\$3,272.97
							Entity Total:		\$3,261.96
							Adjustment		\$0.00
							Total Amour	nt:	\$3,261.96

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	0	0	9	9	\$11.25	\$0.00	\$11.25	0.70	\$7.88
3/2018	0	0	9	9	\$11.25	\$143.33	\$-132.08	0.70	\$-92.46
4/2018	1,898	7,069	121	9,088	\$11,360.00	\$245.39	\$11,114.61	0.70	\$7,780.23
							Entity Total:		\$7,695.65
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,695.65

Codington

Telecom Lines

Wireless Lines

VOIP Total Lines

Surcharge

Admin Fee Net Surcharge

Entity Entity Amount Percent

3/2018	0	0	0	0	\$0.00	\$216.23	\$-216.23	0.70	\$-151.36
4/2018	8,359	18,051	169	26,579	\$33,223.75	\$704.60	\$32,519.15	0.70	\$22,763.41
							Entity Total: Adjustment: Total Amount:		\$22,612.05 \$0.00 \$22,612.05
C = == = =									

Corson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$11.98	\$-11.98	0.70	\$-8.39
4/2018	1,375	573	5	1,953	\$2,441.25	\$50.11	\$2,391.14	0.70	\$1,673.80
							Entity Tot	al:	\$1,665.41
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$1,665.41

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$86.18	\$-86.18	0.70	\$-60.33
4/2018	3,731	5,093	30	8,854	\$11,067.50	\$245.01	\$10,822.49	0.70	\$7,575.74
							Entity Total: Adjustment:		\$7,515.41 \$0.00
							Total Amou	nt:	\$7,515.41

Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$254.03	\$-254.03	0.70	\$-177.82
4/2018	5,763	13,287	228	19,278	\$24,097.50	\$499.47	\$23,598.03	0.70	\$16,518.62
							Entity Total:		\$16,340.80
							Adjustment:		\$0.00
							Total Amour	nt:	\$16,340.80

Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$52.15	\$-52.15	0.70	\$-36.51
4/2018	2,341	3,493	20	5,854	\$7,317.50	\$151.03	\$7,166.47	0.70	\$5,016.53

							Entity Total: Adjustment:		\$4,980.02 \$0.00
							Total Amou		\$4,980.02
Deuel									¢ 1,000102
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$43.65	\$-43.65	0.70	\$-30.56
4/2018	1,993	2,867	6	4,866	\$6,082.50	\$129.40	\$5,953.10	0.70	\$4,167.17
							Entity Total:		\$4,136.61
							Adjustment:	1	\$0.00
							Total Amou	nt:	\$4,136.61
Douglas									
g									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	Telecom Lines	Wireless Lines		Total Lines	Surcharge \$0.00	Admin Fee \$25.75	Net Surcharge \$-25.75		Entity Amount \$-18.03
Reporting Period			Lines		-			Percent	
Reporting Period 3/2018	0	0	Lines 0	0	\$0.00	\$25.75	\$-25.75	Percent 0.70 0.70	\$-18.03
Reporting Period 3/2018	0	0	Lines 0	0	\$0.00	\$25.75	\$-25.75 \$4,276.79	Percent 0.70 0.70	\$-18.03 \$2,993.75
Reporting Period 3/2018	0	0	Lines 0	0	\$0.00	\$25.75	\$-25.75 \$4,276.79 Entity Total:	Percent 0.70 0.70	\$-18.03 \$2,993.75 \$2,975.72

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$43.93	\$-43.93	0.70	\$-30.75
4/2018	1,445	2,791	10	4,246	\$5,307.50	\$108.45	\$5,199.05	0.70	\$3,639.34
							Entity Total:		\$3,608.59
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,608.59

Fall River

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$84.88	\$-84.88	0.70	\$-59.42
4/2018	3,558	4,190	18	7,766	\$9,707.50	\$195.94	\$9,511.56	0.70	\$6,658.09

Adjustment: \$0.00 Total Amount: \$6,598.67

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$17.18	\$-17.18	0.70	\$-12.03
4/2018	941	1,422	13	2,376	\$2,970.00	\$71.56	\$2,898.44	0.70	\$2,028.91
							Entity Total:		\$2,016.88
							Adjustment		\$0.00
							Total Amou	nt:	\$2,016.88

Grant

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$101.13	\$-101.13	0.70	\$-70.79
4/2018	2,402	5,068	14	7,484	\$9,355.00	\$188.49	\$9,166.51	0.70	\$6,416.56
							Entity Tota		\$6,345.77
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$6,345.77

Gregory

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$65.35	\$-65.35	0.70	\$-45.75
4/2018	1,960	3,390	14	5,364	\$6,705.00	\$144.55	\$6,560.45	0.70	\$4,592.32
							Entity Tota	ıl:	\$4,546.57
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$4,546.57

Haakon

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$10.30	\$-10.30	0.70	\$-7.21
4/2018	1,100	1,357	5	2,462	\$3,077.50	\$61.59	\$3,015.91	0.70	\$2,111.14
							Entity Tota	I:	\$2,103.93
							Adjustmen	t:	\$0.00

Total Amount: \$2,103.93

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$29.30	\$-29.30	0.70	\$-20.51
4/2018	1,896	3,520	7	5,423	\$6,778.75	\$136.57	\$6,642.18	0.70	\$4,649.53
							Entity Total:		\$4,629.02
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,629.02

Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$43.70	\$-43.70	0.70	\$-30.59
4/2018	1,262	2,680	13	3,955	\$4,943.75	\$101.46	\$4,842.29	0.70	\$3,389.60
							Entity Total: Adjustment:		\$3,359.01 \$0.00
							Total Amour		\$3,359.01

Hanson

Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
0	0	0	0	\$0.00	\$53.30	\$-53.30	0.70	\$-37.31
1,065	2,836	17	3,918	\$4,897.50	\$100.50	\$4,797.00	0.70	\$3,357.90
						Entity Total: Adjustment:		\$3,320.59 \$0.00
						Total Amoun	t:	\$3,320.59
	0		Lines 0 0 0	Lines 0 0 0 0	Lines 0 0 0 0 \$0.00	Lines 0 0 0 0 \$0.00 \$53.30	Lines C C 0 0 0 \$0.00 \$53.30 \$-53.30 1,065 2,836 17 3,918 \$4,897.50 \$100.50 \$4,797.00 Entity Total: Adjustment:	Lines Percent 0 0 0 \$53.30 \$-53.30 0.70 1,065 2,836 17 3,918 \$4,897.50 \$100.50 \$4,797.00 0.70

Harding

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$10.50	\$-10.50	0.70	\$-7.35
4/2018	750	839	1	1,590	\$1,987.50	\$49.90	\$1,937.60	0.70	\$1,356.32

Entity Total:	\$1,348.97
Adjustment:	\$0.00

Hughes

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2018	0	0	27	27	\$33.75	\$0.00	\$33.75	0.70	\$23.63
3/2018	0	0	27	27	\$33.75	\$160.58	\$-126.83	0.70	\$-88.78
4/2018	4,814	14,029	220	19,063	\$23,828.75	\$539.13	\$23,289.62	0.70	\$16,302.73
							Entity Total Adjustment		\$16,237.58 \$0.00
							Total Amou		\$16,237.58
Hutchinson									÷··;=•··••

Hutchinson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$84.35	\$-84.35	0.70	\$-59.05
4/2018	3,362	4,926	16	8,304	\$10,380.00	\$232.57	\$10,147.43	0.70	\$7,103.20
							Entity Total:		\$7,044.15
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,044.15

Hyde

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$18.58	\$-18.58	0.70	\$-13.01
4/2018	750	1,042	2	1,794	\$2,242.50	\$45.93	\$2,196.57	0.70	\$1,537.60
							Entity Total: Adjustment:		\$1,524.59 \$0.00
							Total Amoun	t:	\$1,524.59

Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$9.70	\$-9.70	0.70	\$-6.79
4/2018	692	766	0	1,458	\$1,822.50	\$36.46	\$1,786.04	0.70	\$1,250.23
							Entity Total Adjustment		\$1,243.44 \$0.00
							Total Amou		\$1,243.44

Jerauld

VOIP Lines

Wireless Lines

Total Lines

Surcharge

Admin Fee

Net Surcharge

Entity Amount Entity Percent

3/2018	0	0	0	0	\$0.00	\$11.90	\$-11.90	0.70	\$-8.33
4/2018	994	1,194	0	2,188	\$2,735.00	\$55.93	\$2,679.07	0.70	\$1,875.35
							Entity Total: Adjustment:		\$1,867.02 \$0.00
							Total Amount:		\$1,867.02
Less et al.									

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$9.00	\$-9.00	0.70	\$-6.30
4/2018	586	623	18	1,227	\$1,533.75	\$32.60	\$1,501.15	0.70	\$1,050.81
							Entity Tota	al:	\$1,044.51
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,044.51

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$43.75	\$-43.75	0.70	\$-30.63
4/2018	1,465	3,851	43	5,359	\$6,698.75	\$137.69	\$6,561.06	0.70	\$4,592.74
							Entity Total:		\$4,562.11
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,562.11

Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$184.38	\$-184.38	0.70	\$-129.07
4/2018	2,999	9,800	59	12,858	\$16,072.50	\$340.24	\$15,732.26	0.70	\$11,012.58
							Entity Total: Adjustment:		\$10,883.51 \$0.00

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$281.75	\$-281.75	0.70	\$-197.23
4/2018	8,348	15,745	104	24,197	\$30,246.25	\$623.91	\$29,622.34	0.70	\$20,735.64

\$10,883.51

Total Amount:

							Entity Total: Adjustment:		\$20,538.41 \$0.00
							Total Amoun	t:	\$20,538.41
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	5	5	\$6.25	\$467.12	\$-460.87	0.70	\$-322.61
4/2018	4,531	21,784	1,384	27,699	\$34,623.75	\$806.63	\$33,817.12	0.70	\$23,671.98
							Entity Total:		\$23,349.37
							Adjustment:		\$0.00
							Total Amoun	t:	\$23,349.37
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$20.68	\$-20.68	0.70	\$-14.48
4/2018	1,374	1,706	2	3,082	\$3,852.50	\$85.16	\$3,767.34	0.70	\$2,637.14
							Entity Total:		\$2,622.66
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,622.66
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

McCook

3/2018

4/2018

0

1,965

0

2,727

0

32

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$87.45	\$-87.45	0.70	\$-61.22
4/2018	2,543	4,132	13	6,688	\$8,360.00	\$167.65	\$8,192.35	0.70	\$5,734.65

\$0.00

\$5,905.00

\$56.58

\$132.87

\$-56.58

Entity Total:

Adjustment:

Total Amount:

\$5,772.13

0

4,724

0.70

0.70

\$-39.61

\$4,040.49

\$4,000.88

\$0.00 \$4,000.88 Adjustment: \$0.00 Total Amount: \$5,673.43

McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$15.45	\$-15.45	0.70	\$-10.82
4/2018	1,106	1,466	1	2,573	\$3,216.25	\$76.48	\$3,139.77	0.70	\$2,197.84
							Entity Total: Adjustment		\$2,187.02 \$0.00
							Total Amou		\$2,187.02

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$313.63	\$-313.63	0.70	\$-219.54
4/2018	4,009	16,260	238	20,507	\$25,633.75	\$554.85	\$25,078.90	0.70	\$17,555.23
							Entity Total	:	\$17,335.69
							Adjustment	:	\$0.00
							Total Amou	nt:	\$17,335.69

Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$8.48	\$-8.48	0.70	\$-5.94
4/2018	642	626	0	1,268	\$1,585.00	\$31.71	\$1,553.29	0.70	\$1,087.30
							Entity Total	:	\$1,081.36
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,081.36

Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$23.20	\$-23.20	0.70	\$-16.24
4/2018	1,071	1,511	11	2,593	\$3,241.25	\$65.61	\$3,175.64	0.70	\$2,222.95
							Entity Tota	al:	\$2,206.71
							Adjustmen	nt:	\$0.00

Total Amount: \$2,206.71

Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2018	0	0	5	5	\$6.25	\$0.00	\$6.25	0.70	\$4.38	
3/2018	0	0	0	0	\$0.00	\$2,848.89	\$-2,848.89	0.70	\$-1,994.22	
4/2018	47,799	140,190	1,763	189,752	\$237,190.00	\$4,975.32	\$232,214.68	0.70	\$162,550.28	
							Entity Total: Adjustment: Total Amour		\$160,560.44 \$0.00 \$160,560.44	
Moody										

Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$89.48	\$-89.48	0.70	\$-62.64
4/2018	1,565	4,463	16	6,044	\$7,555.00	\$177.82	\$7,377.18	0.70	\$5,164.03
							Entity Tota	al:	\$5,101.39
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,101.39

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$1,319.60	\$-1,319.60	0.70	\$-923.72
4/2018	28,024	72,877	1,524	102,425	\$128,031.25	\$2,722.38	\$125,308.87	0.70	\$87,716.21
							Entity Total	:	\$86,792.49
							Adjustment	:	\$0.00
							Total Amou	int:	\$86,792.49

Perkins

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$48.48	\$-48.48	0.70	\$-33.94
4/2018	1,924	2,297	6	4,227	\$5,283.75	\$115.60	\$5,168.15	0.70	\$3,617.71
							Entity Total: Adjustment:		\$3,583.77 \$0.00
							Total Amou	nt:	\$3,583.77

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$36.08	\$-36.08	0.70	\$-25.26
4/2018	1,353	1,740	4	3,097	\$3,871.25	\$77.84	\$3,793.41	0.70	\$2,655.39
							Entity Total:		\$2,630.13
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,630.13
Roberts									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$83.33	\$-83.33	0.70	\$-58.33
4/2018	3,960	4,676	10	8,646	\$10,807.50	\$238.77	\$10,568.73	0.70	\$7,398.11
							Entity Total	:	\$7,339.78
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,339.78

Sanborn

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$24.65	\$-24.65	0.70	\$-17.26
4/2018	963	1,756	2	2,721	\$3,401.25	\$68.17	\$3,333.08	0.70	\$2,333.16
							Entity Total: Adjustment:		\$2,315.90 \$0.00
							Total Amour		\$2,315.90

Spink

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$58.00	\$-58.00	0.70	\$-40.60
4/2018	2,107	4,439	10	6,556	\$8,195.00	\$167.72	\$8,027.28	0.70	\$5,619.10
							Entity Total:		\$5,578.50
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,578.50
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$28.33	\$-28.33	0.70	\$-19.83

4/2018	779	2,162	15	2,956	\$3,695.00	\$76.92	\$3,618.08	0.70	\$2,532.66
							Entity Total:		\$2,512.83
							Adjustment:		\$0.00
							Total Amount:		\$2,512.83
Sully									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$15.13	\$-15.13	0.70	\$-10.59
4/2018	789	1,121	1	1,911	\$2,388.75	\$47.80	\$2,340.95	0.70	\$1,638.67
							Entity Total:		\$1,628.08
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,628.08

Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2018	0	18	1	19	\$23.75	\$0.80	\$22.95	0.70	\$16.07
							Entity Total:		\$16.07
							Adjustment:		\$0.00
							Total Amoun	t:	\$16.07

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$81.30	\$-81.30	0.70	\$-56.91
4/2018	2,791	3,823	5	6,619	\$8,273.75	\$166.13	\$8,107.62	0.70	\$5,675.33
							Entity Total: Adjustment:		\$5,618.42 \$0.00
							Total Amou		\$5,618.42

Turner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	-1	0	-1	\$-1.25	\$123.05	\$-124.30	0.70	\$-87.01
4/2018	2,476	5,998	14	8,488	\$10,610.00	\$214.42	\$10,395.58	0.70	\$7,276.91

Entity Total: \$7,189.90

Adjustment: \$0.00 Total Amount: \$7,189.90

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$217.90	\$-217.90	0.70	\$-152.53
4/2018	3,521	10,313	444	14,278	\$17,847.50	\$432.21	\$17,415.29	0.70	\$12,190.70
								Entity Total: Adjustment:	
							Total Amo	ount:	\$12,038.17

Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$66.23	\$-66.23	0.70	\$-46.36
4/2018	2,326	3,517	70	5,913	\$7,391.25	\$148.51	\$7,242.74	0.70	\$5,069.92
							Entity Tota	I:	\$5,023.56
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,023.56

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
3/2018	0	0	0	0	\$0.00	\$298.33	\$-298.33	0.70	\$-208.83
4/2018	5,793	15,243	111	21,147	\$26,433.75	\$541.26	\$25,892.49	0.70	\$18,124.74
							Entity Total:		\$17,915.91
							Adjustment:		\$0.00
							Total Amour	nt:	\$17,915.91
Totals	239,176	564,463	8,820	812,459	\$1,015,573.75	\$ 31,687.05	\$ 983,886.70		